Solution MATH 102 [Homework 4]

1. Page 66. Evaluate

hmz
ﬂ—)wk =] n

Rxemann sum in which the interval [0,1] is
divided into n subinterval of equal width.
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2. Page 444: Q. 28. Find the area of th{@

region enclosed by the graphs of
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3. Evaluate
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4. Sketch the region under the curve y =
flx) over the interval [a,b]: (Use basic
graphs with Horizontal & Vertical Shifts)
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5. 1. Page 455: Q 4(c): Given that In g =9,
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1. 7(e): Simplify exp(3ln x) and state
values of x for which simplified expression is
valid.
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iii. 7(h): Simplify e*"*and state values of
x for which simplified expression is valid.
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iv. 10(b): Express x** as power of e.
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V. 22 Evaluate:
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Vi. 25: Evaluate:
d %
a, - jsirf tdr; bt [
dx <1+t

3
(95“’ fsmeé:SiM(") d /2%

6. Use Theorem 6.9.6 to evaluate:
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